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1. Introduction:

A previous contribution was made proposing removing materiel specific to system selection from TR22.811 which is a review of network selection principles for GSM/UMTS. 
This contribution proposes to include some of that materiel in TR22.936.

2. Discussion:
The following should be included in TR22.936.
· The use cases (expanded) in a new annex.

· The point that R-UIM or USIM should be selected by the overlay functionality should be made in TR22.936.

3. Proposal:

*** first modified section ***

4.3
Case 2 - Automatic switching with an overlay function

· When in 3GPP system, terminal scans non-3GPP systems and vice versa.
· Terminal does not suspend operation on a system while it scans for the other (i.e. dual transceivers).
· Scanning information is passed to an overlay function which decides if to change system.

· The overlay functionality may select USIM or R-UIM at power on.
*** next modified section ***

Annex <X>: Use cases

Example 1: Luke, who has a multi-system terminal, uses the services of his 3GPP operator A. While on vacation in another country, the available networks are the 3GPP network of operator B, offering very basic 3GPP functionalities, and the non 3GPP network of operator C, offering equivalent services compared to operator A. Ideally, Luke would like his device to select the non-3GPP operator C to be able to take advantage of the similarity of services. If his device selects operator B, Luke can select operator C manually if he wishes. 
Example 2: Andrew, who has a multi-system terminal, uses the services of his 3GPP operator A. While on vacation in another country, the available networks are the 3GPP network of operator B, offering a wide range of 3GPP functionalities, and the non 3GPP network of operator C, offering equivalent services compared to operators A and B. Ideally, Andrew would like his device to select 3GPP operator B because services should generally work better in the same system (e.g. no transcoding). If his device selects operator C, Andrew can select operator B manually if he wishes. 

Example 3: Leia, who has a multi-system terminal, uses the services of his 3GPP operator A. While on vacation in another country, the available networks are the 3GPP network of operator B, and the non 3GPP network of operator C. Operator A and C have managed a roaming agreement. Therefore, operator A would prefer that the non 3GPP operator C will be selected. Leia can select operator B manually if she wishes.
Example 4: Harry, who has a multi-system terminal, uses the services of his 3GPP operator A. While on vacation in another country, the available networks are the 3GPP network of operator B, and the non 3GPP network of operator C. Operator A and C are in fact owned by the same company. Therefore, operator A would like to be sure that the non 3GPP operator C will be selected. Harry can select operator B manually if he wishes.
